Ci\%o - P\v\,’%/v\:«tf\ “\\’\Q,Q/S




o

We,aswa—@t bth’hﬂa:im%al’ss lV\(ger\eA\ a\ V\S(mj

Stndard ASC LT @ {01\\3



SD‘— DL Ccm we éo %
?m/\ Q/V\ omnc L"t}

W \/\0»+ t’@ e é,on +  Lse Q/UQJ\ES C/\,\,\pacj_qf* 7

Oov™ l’g o< K@SS Covy O

delee w o on, %éiw =g



/A\V\ wNn a VLC)V\—\S
SQ/V\CX_ LV\ r‘vv\c(\‘\ Z\ﬁ/w
wae a\s cfaecC
‘H—\a&‘ C VL;\— LO‘K:C(ACI S
Lxed  lensdl,

TN‘Q_ v o8 onetlar  [etden

E;V\COAQ. gAN (”’“6’3
LS\ ledlers ar &U

AN




Deca:é% -




So howw Ao we  de %@7 LA @xqcn[—
HQ%\AQ/\(‘Jy COU\V\”\‘S \

This sentence contains three a’s, three c's, two d's, twenty-six e’s, five f's, three g's,
eight h's, thirteen i's, two I's, sixteen n's, nine 0's, six r's, twenty-seven s's, twenty-two t's,
two u’'s, five v's, eight w's, four x's, five y's, and only one z.

A C D & F ..

—_— g —

B oo o = |
6@&\5 V\Se, gmﬂ&%ﬂ \otlk 7% @I/\CO(\[Q_%LS.



TN

(/\ilf:é/g @(@W\Qf C@«Am“%)\gWQ on o Flese

A|ICIDIE|FIG|IH| I [LIN|OIR|S | T|U|VIW|X|Y|Z
3132|2653 (8132|169 |6|2722|2|5|8|4|5]|1

\/\)\MJA ownesS élADVL[C( 30/{' _@,u EL'(E?
S and

§;\ «Q\?/ Jve uses, L of \mk&?




‘o\kQ, ‘\’(AQ_\) ’h/\) - l\—- ~ ’\‘ g

(O A
leaf"

\/\e,? 0.



EXOMEL&:

TIUIVIW[X|Y|Z

N|JO|R| S

L

H

G

F

E

AlC|D

31322653 |8(13|2|16[9|6(27|22|2|5|8 |4 |5]|1

]\/\eri\i, D~ =

UV wW X |Y|L[

T

N |OIR| S

L

H

G

C

3(3|26|5(3|8|13|2|/16|9|6(2722|2|5|8 |4|5]| 3







59

16

end

32

=

k=

17

el <L

q\m‘.

170
111
a0
39 21 55
T
29 10 11 12
o] F W Y
g 5 5 5 6 6
A C G
3 3 3
. _ oYX 2

51

13




V\Slt\j %{_, \Y‘QQ/C
(179 \
(59 0 (113)

27 o fe9) (51)
19 s | 21) (25) 2

(17) (20) (13) (12) 13

O HNHRHEHEHEOSENG

HEO HRHRENO

1001 01001101 00001110111001 111011110001 111110001 10001 0111001 1100001101

T H I SS E N T E N C€ E C€ O N T A |



%PDW M‘*V\/ &ﬂbkﬁ 7

char | A|C|D|E|F|G|H|I |L|N|]O|R|S|T|U|V | W|X|Y Z
freq. | 3 |3 |2 |26 5|3 |8 (132|169 |6 (27222 |5 |8 |4 |5]|1
depth| 6 | 6 |7 |3 | 5|6 |4 |4 |7 3|4 |4|2(4|7|5|4|6|5]|7
total || 18 | 18 |14 |78 |25 |18 |32 |52 |14 |48 |36 |24 |54 |88 |14 |25(32|24 |25 |7

VN & oL nSE sedd,
i ‘{/LA/S%Z %70 \ﬁ&«r%? = r

70 & = |20




gxeru%{ 5
_Cke

| N

170
59
25? 12 60
16 1”6 39
'; ";“r 17 22 10
R ERE
ﬁ 4

L U
2 2

M&§Sa®@? \"\ L;/ [/NLG
t—ﬁw \mcﬁ\/ L@L"&7 &"Q

OlOO 1] 00000000 D0 DO |

111
51
25 2E5
11 12 2
s||s] |5] (s 6
2 5] 5] G
D Z
2 1
Ne SwS gxi ;%D



- G OC/l '/WVV\Q 17
l me&&&e& )ge:s(\" m O@
@/we-s oits J )Dosg\lolz

o 2 7 M‘\—‘L \/-OO
6 +®?€ v%_j ZAEQ%%H E

W/\(S S & O\V*QQAj O \Qbmﬂm-

\J d




N@x‘/\ 'PKOSFGV“\_-' j)e_coo)Q_
Gtv@m Cun, \H’Qw+ (/J)/t(‘/{/\ ieSOmLe_S
S

\,ﬂ/\ ij\ o & MS&J@_

I> Creake Mo e
&) WNse_ r\' o Ao coh o pLeSSag e



